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2H: P2AS
M F=OINK IS
Sl FOINX BAS KE EERE-ED)
_ _ SIEN
NS H2A(SH) - MRAY - BES e @ﬂOH Hws2
T2As 179,149 271,734 92,585
FOIRX JlsY 107,829 100,414 7,415
XXl A5 KE 107,829 100,414 7,415
DXXME 29 23,000 16,000 7,000
201 Ler2oy| 20,000 13,000 7,000
01 AtR2ell 20,000 13,000 7,000
OFVURAME 29 10,000,00080 * 24 4 20,000
405 TtokE S| 3,000 3,000 0
01 XA SEF S 3,000 3,000 0
OFVRAIME ZHH7L 3,000
BHE EsH K& 56,430 56,430 0
301 YerPaa 56,430 56,430 0
05 S-2l-BINSE=2AZ 56,430 56,430 0
OsSx+Y 52,480
ollEay 200,0002! * 169! * 122 38,400
S = 200,0002! * 169! * 23 6,400
osloEa LY
20,0002 * 1691 23] * 122 7,680
Optx g 50,0008 * 792! * 13| 3,950
O A EO X2 4,600 4,600 0
301 LB A 4,600 4,600 0
10 SAtAHIE AR 4,600 4,600 0
OANEALHE S DS &K SA 1,000
O|BIIZEH 3o 24 300,008 * 12”8 3,600
HA 29 Bl 22,799 22,384 415
101 o124 9,799 9,384 415
04 VM2 RISE S 9,799 9,384 415
O BAIZZ 22X 24 9,799
SSIEE 32,8802 * 121 % 230 7,563
oxgaY 32,8802 * 191 » 47 1,546
o 2tAl| 3,0008 * 191 * 230 690
401 AlZHIL 20| 10,000 10,000 0
01 Al&H 10,000 10,000 0
OSHA BHIZA 10,000
405 TokE S| 3,000 3,000 0
01 AU SEFSH 3,000 3,000 0
OSHA JII7Y 3,000
FOMET AT 2 1,000 1,000 0

_13_




SN P2AS
B =pITE JS2E
&2 FOXX 435 A3
Ao S2(B1) - HSAY - B2 Abol e
201 dBt23d| 1,000 1,000
01 At22telyl 1,000 1,000
OF0MEXANELN 29 1,000
HESAAH|(R2LASE) 71,320 71,320 0
oled 2 A 9,920 9,920 0
ol 2AH| 9,920 9,920 0
203 R F=&H| 9,920 9,920 0
01 J|22IYRF=4H| 6,600 6,600 0
os% 550,000& = 12& 6,600
02 HJAIMNMH =AY 320 320
O&FJINNHRFRH| 40,000& = 89! 320
04 EANSHERE=EH| 3,000 3,000
ORNSIHERFAY| 250,000& = 12& 3,000
R=g]s] 61,400 61,400
=2y 61,400 61,400
201 Et23d| 37,200 37,200
01 At22telyl 17,700 15,700
Odet=2H| 13,000
O3 &l 4,700
02 s=529H| 19,500 21,500
O3322 2 HA 7,500
OdZH| 4,000
O&H AU SZdHsE HAZH|
300,000& = 5& 1,500
OA & &EHI KX b 3,000
O X 3,500
202 4l 24,200 24,200
01 2| 5,000 5,000
Os¥y YA 3,720
Obl&azZ22 2ol 1,280
02 XA b 19,200 19,200
O HAHYI 200,000& = 821 = 12& 19,200
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FAN:EES
M FUXX JlsZEt
chel: =X 2435 X2

_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
2SS 193,424 278,170 N84, 746
FOXA JIsZ=t 107,640 94,360 13,280
FO XA 243 K& 107,640 94,360 13,280
FEUIXHEH 22 16,000 16,000 0
201 LEt=gH| 13,000 13,000 0
01 AtR2telH] 13,000 13,000 0
OFaTXdE 2 13,000
405 XtotE SHI 3,000 3,000 0
01 MM E=SFSHI 3,000 3,000 0
OFeTXIdE FHF 3,000
g oy 234l N2 63,040 59,760 3,280
301 Lert2a= 63,040 59,760 3,280
05 S-cl-gEas2as 63,040 59,760 3,280
Osd=¢ 59,040
ollg=¢g 200,000& = 1821 » 123 43,200
&=z 200,000 =+ 1821 = 23] 7,200
= Eas
20,000& * 182! = 23| » 12& 8,640
ogtd =4 50,000& = 802! = 13l 4,000
=8 AE O N 4,600 4,600 0
301 et2d= 4,600 4,600 0
10 HALAHIE S S 4,600 4,600 0
OAMBARAHEEDNS| &I =S4 1,000
OS2I 2 319 =4 300,000& = 123 3,600
STA =24 2l 23,000 13,000 10,000
401 AIEHIZ 208 20,000 10,000 10,000
01 A&l 20,000 10,000 10,000
OSEAL =HEE HHISA 20,000
405 XtobE SHI 3,000 3,000 0
01 MM =SFSHI 3,000 3,000 0
OsSIA &8J7Y 3,000
FOMEAEY 22Y 1,000 1,000 0
201 LEt=gH| 1,000 1,000 0
01 Ab=22telH 1,000 1,000 0
OFodaslaags 24 1,000
HH2IZH(BLS) 85,784 83,810 1,974
I 2 25,884 23,910 1,974
el 23| 25,884 23,910 1,974
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